
1

. f(x) = 11X .

Find the interval of convergence for each of the following.

a. fix, b . f"(X

a
. f(x) = i x = 1 + x + x+ ...= X

,

(X)
k= 0

=> fix =1) = 1X")=X*, 1x
For X = 1, K is div.
For X = -1, k is div.

=> interval of cour. 14 . 1)

b
.

f"(x) = If'(xi)' , (k)

-kx* )= (kX** Y ,
(xk)

= k(k-1)Xk2
, (xk

For X = 1 , K(k-11 div
For X = -1,HK. (K-1) dir

=> interval of cour. 1-1 , 1)
.

2. Find a power series for fix) = 6X
,

centered at X = 1

f(x =
b -x =

0 -4 1
= 5x1 .

Let u = x- 1

f(x) = 5 u =

54
+
x)

= -[1 + - + E+ ... ] ,
Enk

= 5[1 + - (X+ ) + ju(X+)+ ... ] , I (X-1k 1
.



3. Find a power
series for fix =exsinx centered at X = 0 .

ex = 1 + X+ + Y +...
Sinx =X-A+...

= exsinx = (1 +X+++... )(X-+ +...

= X+x+ 1- 5: +2)X+ 1- 5+ )X *+ (5 - 2x + 4) + ...
= X+x+ y + 0- +...


